20030 90

000 [3]00(4)000000000000 [3]000

D KOO,K"O KOO~0OODOODODOOOODO,ADO KOOOO
Dboob.000000000000 e KODOOOO

Tlo)=A—«FE (E0D0O0O0OO),
W(a)={ve K" |T(a)"v=o0}
goodd,guooooooon
(1) 000 a,€ KOOOO, T(a)T(8) = T(B)T() 000000000
(2) W(a)O K"0 ADODDDOODOODOODODOOODO

(3) W(a) # {0} 0000000000000 a0 ADDDOOOOODO
0ooo

(4) a£BeKOO0O,W@NW(@) ={}000000000

2D0oo0O0DO0O0OO0
() 0000000 «00000000

lim z%logsinx =0
z——+0

(2) 0000000 O0OOOoOoOOOO

/2 log sin xdx = /2 log cos xdx = / log sin xdx
0 0 T

2

3

(3) 0000000000000 O0,0000000

jus

2
lim log sin zdx
e—+0 e



300000000 XO00000 A0D0OO0,X 0000 A000
00 A°0000X 00000 ABOODOD,000 A+BOA+B-=
(ANB)U(BNA) 000000000, X00000 Ay, As,..., A4, 00
00,000 A4+ Ag+-+Ap O (- (A + A+ Ag) +---) + A, OO
00000000000,000,0000 YOOOOOO [v|oOO0O

(1) AB,CO XO0OOOODOOOOO, (A+B)nC = (ANC)+(BNC)
00000000000

(2) A/B,C0O X 0O0OOO0OOOOO,(A+B)+C=A4+(B+C) 0O
0000000000

(3) A, 4s,...,A,0 X0ODODOOOOOOOO,

’A1+A2+...+Am‘ — Z (_2)\1\—1
PAIC{1,...,m}

N

i€l

gboboooooobog

4) X=YUZ(XNY=0),Y={y,....u5}, Z = {21,222}, |Y]| =5,
1Z|=30000

A={A|ACX, |A|=5, |AnY|=3000 4}

0000, A={A;,...,A4,) 00000, A +A,+---+4,00000

[00] (40000 (XNY =00 (YNZ=0)0OODO



(40000 [0,+00) 0000000 p 0O

p(E)=#{neN; 2" € £}, E C [0, +00),

000000000, #F 000 FOOOOOOOO, N = {1,2,...

ooo
(1) OO0O0O0DO0O0ooooo
+001
— u(d
/0 — pldz)

(2) 0<r<+4o00o00 r0000,200000 x,0O

(z,7) I, O<z<y<rO0O,
r\T, -
Xrid Y 0, 00O,

gbbooogoboo,dd

0

000000000, neNODOOD
(3) OO N(y) O
N(y) = #{n € N; 2"<y}, 0<y < +o0,

gboboogogob,ddd o<r<+oobDog

gboboooooobog

} O



[5[000 ROOOOOO0O0 C~-000 ¢(x)0,0000000000,

o) 20, [ olyds =1
0oooooooooo,0ood n0ogo
Bu() = né(na)
000000,00000 fel(R)OO0D
6o fa) = [ onla = sy

gboobobboogoboo

(1) 000 é>00000,00 N>10000,n>NOOO

/ i b(w)de =1,

00000000000
(2) ¢o* f(x) 0000 C>-000000000000

(3) 00000 f(») 00000000000, ¢, % f(z) 0 f(z) 0000
00000000000



(60 HOOOOOO0O0OO{¢.;n=0,1,2,...} 0000000000
ooooo

(1) 00000 TO
Ty =0, Thpn = Pn-1, n =1,
Oodoooooo,rooooooobobooooooa
(2) D0D0D0O AD,
Ago =0, Adn = Vngp1, n=>1,
gddodoouooooooooon
(3) ()0 ADDDO,000 DO

D= {¢ - ian%; in!aﬁ < 00}
n=0

n=1

000000000 Ap=X 0000 000 AeCOOODOOOO
00000

DDDDDDD nO0000000000,00000000000 A,
obooboooboobdg g, 000buoobooboob

(1) A,B, 0000 E(A,B,) 00000
2) X,=A,—B,00000,X,0000000000

(3) (2)00000 X, 0000 E(X,) 000 V(X,) 00000



80 M,(R)0 n0O0O0OO0OODOOO,RY 0000000000
D0000O0(m 0O 0000,0000

O(n) = {A € M,(R); "AA = A'A = I}

00, M,(R)00000000000000O0O0O0O0O0O0 IO A0000
gbbobuoogbbouooooboboo

(HOo(r)0 R®O000000000000000
(2)0(r)0 R"O00000000000

T T
On)xR"s [ A | : — Al e R".

Tn Tn

00000 (n—1)0000 ™' ={x="(z1,---,2,) €R™ 3" 2,2 =1}
000000000000

(3)S" 1000 xo=(1,0,---,0) 0000 O(n) 000000 On)y, =
{A€O(n); Axo =%} 00000

(4)O(m)0 R"OD00000 S~ !'000000000000000

(5) 000 O(n)/O(n—1)0 S"'000000000000O0000
0,0(n-1)000000000 O(x) 000000000

O(n—1):= O €O(n)| BeO(n—1), CO(n).



@DDD ROOOO, 000000000000z, ye ROOOO
r~y<—zc—yUlO00O0
goboo,00oon
(1) ~ODOROODOOODODOODODOOOO

2)7:R—-R/~000000000000000R/~0000UO
00o000,R/~000000000

UOR/~0000 < (U)0DROOOO.

a,b) e R2a2+ ¥ =1}0000,R/~0S8' 0000000

10j00000O0O0OoOoon

(1) nO0OD0OD0 S, 0000,00n 00000 o0000O000OO0 0O
gbbooogbbooooooboo

(2) 50000 A;0000,00 500000 (123450000000
gobouooggn

(3) TOOOD0O A, 0000,00 500000 (123450000000
gobouooggn

11/00000000000000000000

filz) =2°+38
fo(z) =2*—2

fa(z) =2 —4dx

fa(x) =2*-3z+1

(1) fi(z), fo(2), f3(z), fu(x)000,0000 QOOOO0O0O0OOOODO
000,00000000000
)

0
(2) fi(z), fo(z), fs(x)0 QDOD0000000000O0O0O0O0O0O0O0O0O

(3) ¢ =e/00000,C+¢80 fi(x)00000000000OO,
fi(z) O QUOUDDO0000000000000000



